The Kalam Causal Argument

It’s inductive.  Is originally an Arabic philosophical argument.  Kalam refers to Arabic philosophy and theology.  In modern terms, could cite William Craig as an exponent of it.

1. All that begins to exist has a cause for its existence.

2. The universe began to exist.

3. Therefore the beginning of the universe had a (personal) cause.

------------------------------

4. God is the cause as there has to be something external to the universe to cause it.

The argument is remarkably straightforward in terms of its formulation.  But the assumptions in premises 1 and 2 are, in fact, rather complicated.  The debate concerning the Kalam argument centres on whether or not all things that exist do indeed have to have a cause; and on whether or not the universe did begin to exist.

Why must the universe have a beginning?
Actual infinites cannot exist in the real world
· A beginningless, temporal series of events is an actual infinite.

· To say the universe had no beginning is to say there is an actual infinite number of past events in the history of the universe.  This cannot be the case.

· To prove this Craig uses the example of a library with an infinite number of red books; and another with an infinite number of red books and an infinite number of black books.  The 2nd library surely has twice as many books in it, but it can’t have.  Also, if each book has an infinite number of pages, to read one would be the same as reading EVERY book.  This can’t work in the real world.

The impossibility of traversing an actual infinite

This works even if we do accept that actual infinites are possible in the real world.

· The actual infinite must occur all at once because you can’t traverse (cross) an actual infinite by successive addition.
· A temporal series of past events is formed by successive addition.

· Therefore, it cannot be actually infinite.

· If it isn’t infinite, it must therefore be finite.  By finite, we mean that it must have had a first term, i.e. a beginning.

There are two explanations for the impossibility of traversing an actual infinite:

Explanation 1:

· Cause and effect applies in the contingent world.  For an event to occur, it must have a cause.

· The past is a long chain of causes and effects.

· There must have been a first cause in order that the first effect could have come about.  “A causal sequence leading up to an event must have a first member and a determinate number of members in the sequence, since the entire sequence is already actual.”  An infinite succession of past events wouldn’t let this happen.

Explanation 2:

· It’s impossible to count to infinity.  A series formed by successive addition is a potential infinite.  But at any given moment it is always finite.
· The past must have been finite, because the present moment is the most recent member of a series of past events formed by successive addition, and one cannot reach infinity one at a time.

Leibniz Sufficient Reason Argument 

This argument claims that all things must have a sufficient reason for their existence.  This amounts to a total causal and epistemological explanation.

· The total explanation must have an end point.  The explanatory chain can NEVER end in a contingent being because one can always ask ‘why?’ of a contingent being.

· As the links in the chain are contingent and not capable of being their own sufficient reason, they could at any time have failed to exist.

· That they did not, and that they exist at all is evidence for the existence of something which is both the sufficient reason of itself and also the thing on which all other contingent things are dependent – a necessary being maintaining a contingent cosmos.

· The necessary being is not generated.  It cannot be, because then it would be contingent.  It is necessary in that it ‘cannot not exist’.  It underpins and sustains the contingent reality – our world.

· The Sufficient reason is God.

